

Co	nfiden	tiality	Requested	l:
	Yes	N	lo	

Kansas Corporation Commission Oil & Gas Conservation Division

1087991

Form ACO-1
August 2013
Form must be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #			API No. 15			
Name:			Spot Description:			
Address 1:						
Address 2:			Feet from North / South Line of Section			
City:	State: Z	ip:+	Fe	eet from East /	West Line of Section	
Contact Person:			Footages Calculated from I	Nearest Outside Section C	Corner:	
Phone: ()			□ NE □ NW	V □SE □SW		
CONTRACTOR: License #			GPS Location: Lat:	, Long: _		
Name:				(e.g. xx.xxxxx)	(e.gxxx.xxxxx)	
Wellsite Geologist:			Datum: NAD27	NAD83 WGS84		
Purchaser:			County:			
Designate Type of Completion:			Lease Name:	W	/ell #:	
	e-Entry	Workover	Field Name:			
	_		Producing Formation:			
☐ Oil ☐ WSW	☐ SWD	☐ SIOW	Elevation: Ground: Kelly Bushing:			
☐ Gas ☐ D&A ☐ ENHR ☐ SIGW ☐ Temp. Abd.			Total Vertical Depth:	Plug Back Total C	Depth:	
CM (Coal Bed Methane)	dow	Temp. Abd.	Amount of Surface Pipe Set and Cemented at: Feet			
☐ Cathodic ☐ Other (Co	ore, Expl., etc.):		Multiple Stage Cementing	Collar Used? Yes	No	
If Workover/Re-entry: Old Well I			If yes, show depth set:		Feet	
Operator:			If Alternate II completion, c	cement circulated from:		
Well Name:			feet depth to:	w/	sx cmt.	
Original Comp. Date:						
Deepening Re-perf	•	NHR Conv. to SWD	Drilling Fluid Managemer	nt Plan		
☐ Plug Back	Conv. to G		(Data must be collected from the			
Commingled	Pormit #:		Chloride content:	ppm Fluid volume	e: bbls	
Dual Completion			Dewatering method used: _			
SWD			Location of fluid disposal if	hauled offsite		
☐ ENHR			· ·			
GSW	Permit #:		Operator Name:			
_ _			Lease Name:	License #:_		
Spud Date or Date R	eached TD	Completion Date or	QuarterSec	TwpS. R	East _ West	
Recompletion Date		Recompletion Date	County:	Permit #:		

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY					
Confidentiality Requested					
Date:					
Confidential Release Date:					
Wireline Log Received					
Geologist Report Received					
UIC Distribution					
ALT I II Approved by: Date:					

Page Two



Operator Name: Lease Name			Name: _	Well #:						
Sec Twp	S. R	East	West	County	:					
	ow important tops of fo ing and shut-in pressu o surface test, along wi	res, whe	ther shut-in pre	ssure reacl	hed stati	c level, hydrosta	tic pressures, bo			
Final Radioactivity Logilles must be submitted						gs must be ema	iled to kcc-well-lo	ogs@kcc.ks.go	v. Digital	electronic log
Drill Stem Tests Taken Yes No (Attach Additional Sheets)					3	on (Top), Depth a			Sample	
Samples Sent to Geological Survey				Nam	9		Тор	L	Datum	
Cores Taken Yes Electric Log Run Yes										
List All E. Logs Run:										
			CASING	RECORD	│ Ne	w Used				
		Repo				rmediate, producti	on, etc.			
Purpose of String	Size Hole Drilled		e Casing t (In O.D.)	Weig Lbs./		Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Purpose	Depth					EEZE RECORD				
Purpose: Perforate	Top Bottom	Type of Cement # Sacks Used			Used	Type and Percent Additives				
Protect Casing Plug Back TD										
Plug Off Zone										
Did you perform a hydrau	ilic fracturing treatment or	this well?	?			Yes	No (If No, sk	ip questions 2 ar	nd 3)	
	otal base fluid of the hydra		•		•			ip question 3)		
Was the hydraulic fractur	ing treatment information	submitted	to the chemical of	disclosure reg	gistry?	Yes	No (If No, fil	out Page Three	of the ACC)-1)
Shots Per Foot			RD - Bridge Plug Each Interval Perl					e, Shot, Cement Squeeze Record int and Kind of Material Used) Dept		
TUBING RECORD:	Size:	Set At:		Packer At	t:	Liner Run:				
							Yes No			
Date of First, Resumed	Production, SWD or ENH	R.	Producing Meth Flowing	nod:	g 🗌	Gas Lift C	other (Explain)			
Estimated Production Per 24 Hours	Oil Bl	bls.	Gas	Mcf	Wate	er Bl	ols.	Gas-Oil Ratio		Gravity
DIODOGITI	ON OF CAC			ACTUOD OF	COMPLE	TION		DDODUGT		
Vented Sold	ON OF GAS: Used on Lease		N Open Hole	NETHOD OF \Box Perf.	Dually	Comp. Con	nmingled	PRODUCTIO	λιν ιίΝ Ι ΕΚ\	/AL:
(If vented, Sub			Other (Specify)		(Submit A	ACO-5) (Subi	mit ACO-4)			

Form	ACO1 - Well Completion			
Operator	Lotus Operating Company, L.L.C.			
Well Name	Suzie 7			
Doc ID	1087991			

All Electric Logs Run

Dual Induction
Neutron Density w/PE
Micro
Sonic

Form	ACO1 - Well Completion			
Operator	Lotus Operating Company, L.L.C.			
Well Name	Suzie 7			
Doc ID	1087991			

Tops

Name	Тор	Datum
Heebner	3786	-2361
KC	4324	-2899
ВКС	4555	-3130
Cher shale	4695	-3270
Miss	4739	-3314
Viola	5113	-3688
Simp Shale	5208	-3783
Arb	5394	-3969
LTD	5446	-4021



RECEIVED

JUN 0 2 2012

INVOICE

Invoice Number: 131285

Invoice Date: May 26, 2012

Page: 1



PO Box 93999 Southlake, TX 76092

Voice: (817) 546-7282 Fax: (817) 246-3361

Bill To:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

Customer ID	Well Name# or Customer P.O.	Payment Terms		
Lotus	Suzie #7	Net 30 Days		
Job Location	Camp Location	Service Date Due Date	,	
KS1-01	Medicine Lodge	May 26, 2012 6/25/12		

Quantity	Item	Description	Unit Price	Amount
135.00	MAT	Class A Common	16.25	2,193.75
90.00	MAT	Pozmix	8.50	765.00
4.00	MAT	Gel	21.25	85.00
7.00	MAT	Chloride	58.20	407.40
252.86	SER	Cubic Feet	2.10	531.00
220.94	SER	Ton Miles	2.35	519.20
1.00	SER	Surface	1,125.00	1,125.00
20.00	SER	Heavy Vehicle Mileage	7.00	140.00
20.00	SER	Light Vehicle Mileage ENTERED	4.00	80.00
1.00	CEMENTER	David Felio		
1.00	CEMENTER	Darin Franklin JUN 9 4 2012		
1.00	OPER ASSIST	Visente Torres		
1.00	OPER ASSIST	Joe Hawk		
1.00	OPER ASSIST	Joe Halcomb GL# DESC. Communication WELL # Suxi		
L		0.111-1		E 046 25

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$1169.27

ONLY IF PAID ON OR BEFORE
Jun 20, 2012

TOTAL	6,098.28
Payment/Credit Applied	
Total Invoice Amount	6,098.28
Sales Tax	251.93
Subtotal	5,846.35

-1169.27

\$ 4929.01

ALLIED CEMENTING CO., LLC. 038061 Federal Tax I.D.# 20-5975804

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665		SERV	ICE POINT:	e bodye KS
DATE 05-26-12 SEC. TWP. RANGE C	ALLED OUT	ON LOCATION	JOB START	1914 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
LEASE SUZIE WELL# 7 LOCATION			Barber	STATE
			Darrek	1 42
OLD OR (Circle one)			J	
CONTRACTOR Duke #20 TYPE OF JOB Surface	OWNER 4	Lotus		
11:26	CEMENT	_	, ,	
HOLE SIZE $14\frac{3}{4}$ T.D. 2.15 CASING SIZE $10\frac{3}{4}$ DEPTH $2.55 + 17\frac{1}{4}$?	MAMOUNT ORDI	_{ERED} 225	sx 60: 40	1: 2% and+
TUBING SIZE DEPTH	3%cc	EKED _U.U		74.
DRILL PIPE DEPTH				
TOOL DEPTH				
PRES. MAX MINIMUM —	COMMON H	<u> 135/ 2</u>	v@ 16-25	2193.7S
MEAS. LINE SHOE JOINT JA	POZMIX	90 3K	@ 8.50	765.00
CEMENT LEFT IN CSG. 20'	GEL	4 Sx	@21.2S	85-00
PERFS.	CHLORIDE	7 sk	@58.20	407.40
DISPLACEMENT 2434 Bbls Fresh HB	ASC		@	
EQUIPMENT'			@	
PUMPTRUCK CEMENTER D. Felia			_@	
			_@	
#471-302 HELPER Vincenta, Dean F. BULK TRUCK			@	
#356-290 DRIVER J. Hawk / J. Holcomb			_@	
BULK TRUCK				
# DRIVER			@	
T DRIVER		<i>2</i> 36	@ <i>2</i> :2S	53/-00
The state of the s	MILEAGE 🕏	36/.// 20		519-20
REMARKS:		′ /	TOTAL	4501.35
		SERVI	CE	
	DEPTH OF JOB	273		
	PUMP TRUCK (1/25.00	
	EXTRA FOOTA		@	
	MILEAGE	20	(P. EX)	140.00
	MANIFOLD) @ M/c	
	Light Vehic	le do	@ 4.00	80.00
,			@	
CHARGE TO: Lotys				-
			TOTAL	1345.00
STREET			TOTAL	
CITYSTATEZIP				
	P	LUG & FLOAT	T EQUIPME	NT
		<u> </u>		
			_@	
	70,0			
To Allied Cementing Co., LLC.	2010			
You are hereby requested to rent cementing equipment	/		@	
and furnish cementer and helper(s) to assist owner or	-/		@	
contractor to do work as is listed. The above work was				
done to satisfaction and supervision of owner agent or			TOTAL	·
contractor. I have read and understand the "GENERAL				
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If	Any)		
	TOTAL CHARC	GES 5846	દઙઽ	
DOWNER WILL 21.	. o mb cimiç	2011		
PRINTED NAME Those founs	DISCOUNT		IF PA	ID IN 30 DAYS
M' Ω_{α}		1//~	708	
SIGNATURE	N5+	461	1.00	



RECEIVED

JUN 1 6 2012

INVOICE

Invoice Number: 131404

Invoice Date: Jun 1, 2012

Page:



PO Box 93999 Southlake, TX 76092

Voice: (817) 546-7282 Fax: (817) 246-3361

Bill To:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

Customer ID	Well Name/# or Customer P.O.	Paymen	it Terms
Lotus	Suzie #7	Net 30) Days
Job Location	Camp Location	Service Date	Due Date
KS1-02	Medicine Lodge	Jun 1, 2012	7/1/12

Quantity	Item	Description	Unit Price	Amount
30.00	MAT	Class A Common	16.25	487.50
20.00	MAT	Pozmix	8.50	170.00
2.00	MAT	Gel	21.25	42.50
175.00	MAT	ASC 03 00	19.00	3,325.00
875.00	MAT	KolSeaGL# 9308	0.89	778.75
82.00	MAT	FL-160 DESC. Cernent prod	17.20	1,410.40
43.00	MAT	FloSeal	2.70	116.10
281.00	SER	Handling	2.25	632.25
20.00	SER	Ton Miles	30.91	618.20
1.00	SER	Production ELL # SUSIC	2,695.00	2,695.00
20.00	SER	Heavy Vehicle Mileage	7.00	140.00
20.00	SER	Light Vehicle Mileage	4.00	80.00
5.00	EQP	5 1/2 Centralizers	49.00	245.00
1.00	EQP	5 1/2 Baskets	337.00	337.00
1.00	EQP	5 1/2 Reg Guide Shoe ENTERED	240.00	240.00
1.00	EQP	5 1/2 AFU Insert	286.00	286.00
1.00	EQP	5 1/2 Rubber Plug JUN 1 8 2012	73.00	73.00
1.00	CEMENTER	Jason Thimesch		
1.00	OPER ASSIST	Ernest Keller		
1.00	EQUIP OPER	Eddie Piper		
1.00	EQUIP OPER	Chris Rickard		
		Subtotal		11.676.70

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT/OF

ONLY IF PAID ON OR BEFORE

Jun 26, 2012

TOTAL	12,529.10
Payment/Credit Applied	
Total Invoice Amount	12,529.10
Sales Tax	852.40
Subtotal	11,676.70

-2,335.34 10,193.76

ALLIED OIL & GAS SERVICES, LLC 053813

Federal Tax 1.D.# 20-5975804

SERVICE POINT:

Medicine Loga KS

DATE O6/OVZOIR SEC. TWP. RANGE	CALLED OUT ON LOCATION JOB START JOB FINISH
LEASE SAZIC WELL# 7 LOCATION 281	Ratlesnake Trail, I East, Barber KS
OLD OR (NEW) (Circle one) North into	
CONTRACTOR D. L. 20	OWNER Lotus oper
TYPE OF JOB Production HOLE SIZE 77 T.D. 5450	CEMENT
CASING SIZE 51/2 DEPTH 5446	AMOUNT ORDERED 50_xx 60:40.4% G-1
TUBING SIZE DEPTH	175 CX Class A ASC +5# Kalcal + .5%
DRILL PIPE DEPTH	A-160+4# Flored
TOOL DEPTH	
PRES. MAX 300 MINIMUM	COMMON <u>Class A 30sk@ 16,25 487.50</u>
MEAS. LINE SHOE JOINT 33.43	POZMIX
CEMENT LEFT IN CSG. 37.45	GEL <u> </u>
DISPLACEMENT 134/2 bb fresh 40	_ CHLORIDE@
	ASC Cluc A 1753x @ 19.00 3335.00
EQUIPMENT	Kolandi - 875# @ .89 778.75 FL-160 82# @ 17.20 1410.40
	Closest
PUMPTRUCK CEMENTER Dawn Thingred	
#548/545 HELPER E raie Keller/ Eddie Pipe	<u> </u>
BULK TRUCK	@
#353/250 DRIVER Chris Rickard	
BULK TRUCK	
# DRIVER	- HANDLING <u>881</u> @ 2.25 632.85
	MILEAGE <u>281x.11 x 20</u> <u>618.20</u>
REMARKS:	TOTAL 7580-70
	SERVICE
	_ DEPTH OF JOB <u>5446</u>
	PUMP TRUCK CHARGE 31.95.00
<u> </u>	EXTRA FOOTAGE@
Thank you	MILEAGE 20 @ . 7 140.00
	MANIFOLD @
	LV 80 @ 4 80.00
	•
CHARGE TO Lotus GOET	@
CHARGE TO: Lotus oper	
CHARGE TO: Lotus oper STREET	TOTAL <u>2915.(()</u>
STREET	TOTAL 2915.(Y)
•	
STREET	TOTAL 2915.(Y) PLUG & FLOAT EQUIPMENT
STREET	PLUG & FLOAT EQUIPMENT 5/2 Centralizers 5 @ 49 245.00
STREETSTATEZIP	PLUG & FLOAT EQUIPMENT 5 & 49 345.00 baskey 1 @ 331 337.00
CITYSTATEZIP To: Allied Oil & Gas Services, LLC.	PLUG & FLOAT EQUIPMENT 5 & 49 345.00 baskey 1 @ 331 337.00 Reg Guide Lac 2 240.00
CITYSTATEZIP To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment	PLUG & FLOAT EQUIPMENT 5 & 49 345.00 basket @ 331 337.00 Res Guide shec @ 340.00 AF 4 insert @ 386.00
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	PLUG & FLOAT EQUIPMENT 52 Centralizers 5 @ 49 345.00 basket 1 @ 337 337.00 Res Guide shec 1 @ 340.00 AFU incert 1 @ 380.00 Rehber plue 1 @ 73.08
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	PLUG & FLOAT EQUIPMENT 52 PLUG & FLOAT EQUIPMENT 52 Centralizers 5 @ 49 345.00 basket 1 @ 337 337.00 Reg Guide shec 1 @ 340.00 AF 4 incrt 1 @ 380.00 Rubber plue 1 @ 73.08
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PLUG & FLOAT EQUIPMENT 52 PLUG & FLOAT EQUIPMENT 52 Centralizers 5 @ 49 245.00 basket 1 @ 337 337.00 Res Guide shec 1 @ 286.00 AFU incert 1 @ 286.00 Rubber plue 1 @ 73.00 TOTAL 118.00
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	PLUG & FLOAT EQUIPMENT 52 Centralizers 5 @ 49 245.00 basket 1 @ 337 337.00 Res Guide shec 1 @ 286.00 AFU insert 1 @ 286.00 Rehber plug 1 @ 73.00 TOTAL 1181.00
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PLUG & FLOAT EQUIPMENT 5
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side	PLUG & FLOAT EQUIPMENT 5 2 PLUG & FLOAT EQUIPMENT 5 0 49 345.00 Baskey 1 0 331 337.00 Reg Gride shec 1 0 300.00 AF 4 incr 1 0 380.00 Rakber plug 1 0 73.08 TOTAL 118.00 e. SALES TAX (If Any) TOTAL CHARGES
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	PLUG & FLOAT EQUIPMENT 52 PLUG & FLOAT EQUIPMENT 52 Centralizers 5 @ 49 345.00 barket 1 @ 337 337.00 Res Guide shoc 1 @ 340.00 AFU incert 1 @ 380.00 Rabber plue 1 @ 73.08 TOTAL 1181.00 E. SALES TAX (If Any) TOTAL CHARGES IF PAID IN 30 DAYS
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side	PLUG & FLOAT EQUIPMENT 52 PLUG & FLOAT EQUIPMENT 52 Centralizers 5 @ 49 345.00 barket 1 @ 337 337.00 Res Guide shoc 1 @ 340.00 AFU incert 1 @ 380.00 Rabber plue 1 @ 73.08 TOTAL 1181.00 E. SALES TAX (If Any) TOTAL CHARGES IF PAID IN 30 DAYS
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side	PLUG & FLOAT EQUIPMENT 5 2 PLUG & FLOAT EQUIPMENT 5 0 49 345.00 Baskey 1 0 331 337.00 Reg Gride shec 1 0 300.00 AF 4 incr 1 0 380.00 Rakber plug 1 0 73.08 TOTAL 118.00 e. SALES TAX (If Any) TOTAL CHARGES
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side	PLUG & FLOAT EQUIPMENT 52 PLUG & FLOAT EQUIPMENT 52 Centralizers 5 @ 49 345.00 barket 1 @ 337 337.00 Res Guide shoc 1 @ 340.00 AFU incert 1 @ 380.00 Rabber plue 1 @ 73.08 TOTAL 1181.00 E. SALES TAX (If Any) TOTAL CHARGES IF PAID IN 30 DAYS

Conservation Division Finney State Office Building 130 S. Market, Rm. 2078 Wichita, KS 67202-3802



Phone: 316-337-6200 Fax: 316-337-6211 http://kcc.ks.gov/

Sam Brownback, Governor

Mark Sievers, Chairman Thomas E. Wright, Commissioner Shari Feist Albrecht, Commissioner

September 12, 2012

Tim Hellman Lotus Operating Company, L.L.C. 100 S MAIN STE 420 WICHITA, KS 67202-3737

Re: ACO1 API 15-007-23882-00-00 Suzie 7 SE/4 Sec.30-34S-11W Barber County, Kansas

Dear Production Department:

We are herewith requesting that the Well Completion Form ACO-1 and attached information for the subject well be held confidential for a period of two years.

Should you have any questions or need additional information regarding subject well, please contact our office.

Respectfully, Tim Hellman